
SAP ABAP table /BEV1/TSSTAT_S {Telephone Sales: Structure for Statistics Data}

_BEV1_TSSTAT_S

ANWBER [CHAR (10)]

ANWGRP [CHAR (7)]

VBELN_CAS [CHAR (10)]

KTAST [CHAR (1)]

WAERK_AK [CUKY (5)]

WAERK_AKH [CUKY (5)]

KUNNR [CHAR (10)]

AUART [CHAR (4)]

VBELN_AK [CHAR (10)]

MATNR [CHAR (18)]

WAERK_AP [CUKY (5)]

WAERK_APH [CUKY (5)]

VRKME [UNIT (3)]

MEINS [UNIT (3)]

_BEV1_TSABER

MANDT [CLNT (3)]

ANWBER [CHAR (10)]

 /BEV1/TSSTAT_S-ANWBER = /BEV1/TSABER-ANWBER 
0..N

0..N

_BEV1_TSAGRP

MANDT [CLNT (3)]

ANWBER [CHAR (10)]

ANWGRP [CHAR (7)]

 /BEV1/TSSTAT_S-ANWGRP = /BEV1/TSAGRP-ANWGRP 
0..N

0..N

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 /BEV1/TSSTAT_S-KUNNR = KNA1-KUNNR 
0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 /BEV1/TSSTAT_S-MATNR = MARA-MATNR 
0..N

0..N T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 /BEV1/TSSTAT_S-MEINS = T006-MSEHI 

0..N0..N  /BEV1/TSSTAT_S-VRKME = T006-MSEHI 
0..N

0..N
TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 /BEV1/TSSTAT_S-WAERK_AK = TCURC-WAERS 

0..N
0..N

 /BEV1/TSSTAT_S-WAERK_AKH = TCURC-WAERS 

0..N
0..N

 /BEV1/TSSTAT_S-WAERK_AP = TCURC-WAERS 0..N0..N

 /BEV1/TSSTAT_S-WAERK_APH = TCURC-WAERS 
0..N0..N

TVAK

MANDT [CLNT (3)]

AUART [CHAR (4)]
 /BEV1/TSSTAT_S-AUART = TVAK-AUART 

0..N

0..N

TVC3

MANDT [CLNT (3)]

KTAST [CHAR (1)]

 /BEV1/TSSTAT_S-KTAST = TVC3-KTAST 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 /BEV1/TSSTAT_S-VBELN_AK = VBUK-VBELN 

0..N

0..N

 /BEV1/TSSTAT_S-VBELN_CAS = VBUK-VBELN 

0..N

0..N


